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How many Industrial Revolutions happened?
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Which transportation vehicle represents the Industrial
Revolution?
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Revolution?
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Which train connection made first passenger traffic
possible?

Stockton-Darlington New York-Miami

Paris-Cannes

Dortmund-Esbjerg
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Which train connection made first passenger traffic
possible?

Stockton-Darlington New York-Miami

Paris-Cannes Dortmund-Esbjerg




Which kind of society was established before the
iIndustrial society?

Agrarian society

Service society
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Which kind of ciety Wstablishdbefore th
iIndustrial society?

Agrarian society Service society
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Which country was the leading state of international
trade in the 18th century?

England ltaly

France Germany
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Which country was the leading state of international

trade in the 18th century?

England ltaly

France Germany
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countryside in the 18th century?
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How many percent of the Europeans lived in the
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How many pple Iive In Germay - 19007? |
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Which invention did not cause the second Industrial
Revolution?

Electrical engineering Vehicle construction
Munitions industry Chemical industry
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Which invention did not cause the second Industrial
Revolution?

Electrical engineering Vehicle construction
Munitions industry Chemical industry

500.000 §
125.000
64.000 |
32.000
16.000
8.000
4.000
2000 f§
1.000 §
500 |
300
200
100

S0




500.000 §
125.000 §
64.000 |
32.000
16.000
8.000
4.000
2.000
1.000 §
500 |
300

200

100

50

How long was the average workday during the Industrial
Revolution?

14-16 hours 10-12 hours
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How long was the average workday during the Industrial
Revolution?

14-16 hours 10-12 hours
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16000 €

Who invented the first useful steam engine?
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Who invented the first useful steam engine?
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hich boo as write y Ada ith ?

Toynbee's Industrial The Wealth of Nations
Revolution
The Economic Development o A Farewell to Alms
France and Germany
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Toynbee's Industrial The Wealth of Nations
Revolution
The Economic Development o A Farewell to Alms
France and Germany
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How much has the German population increased since

64000 €

the Industrial Revolution?
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How much has the German population increased since
the Industrial Revolution?
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By what was the third Industrial Revolution not initiated ?
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By what was the third Industrial Revolution not initiated ?

Microelectronics Nuclear power
Aerospace Robotics
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What is the meaning of Urbanisation?
Humans left the countryside, because at 8 Humans travelled from the city, because
the seaside there was more work. in the countryside there was more work.

Humans travelled into the city, because Humans travelled into the underground,
they wanted to find work in a factory. because the sunshine was too strong.
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What is the meaning of Urbanisation?
Humans left the countryside, because at 88 Humans travelled from the city, because
the seaside there was more work. in the countryside there was more work.

Humans travelled into the city, because Humans travelled into the underground,
they wanted to find work in a factory. because the sunshine was too strong.
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